Divisibility Rules

Divisar Divisibility Condition Example
2 The last digitiseven {0, 2, 4, 6, ar 8). 388 iseven which is divisible by 2.
3 The sum ofthe digits is divisible by 3. 4. 093 == 4+0+5+3=12 and 1+2=3
Foar large numbers, digits may be summed iteratively. webich is clearly divisible by 3.
Add the ones digitto twice the tens diagit. FTAT2  2+{2x N =1k
Al digits to the left of the tens digit can be ignared.) which is clearly divisible by 4.
4 The last tweo digits divisible by 4. 20,916 ;16 is divisible by 4.
If the tens digitis even, and the ones digit is0, 4, ar 8. 728 2iseven, &the last digitis 8.
If the tens digit is odd, and the ones digit is 2, or 6. 3586 : 3 isodd, & the last digitis 6.
a The last digitis 0 ar 4. 1,285 : the last digit is 4.
2862 . 2+5+B+2=1%5,
e . wehich it is divisible by 3, and the
B[ ITItIS divisibie. by < anciy; 3. last digitis even which is divisible
by 2, 50 the number is divisible G.
q The sum ofthe digits is divisible oy 9. 1,269 == 1+2+6+3=18 and 1+8=9

Far large numbers, digits may be summed iteratively.

webiich is clearly divisible by 9.
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